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What is the status of the money that you get if you charged n'an? Is it yours? Do you

have to give it back? Should it depend on the Chakira of n'a being an 7ra nio'x or a

NPT 2I'N?
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What if the borrower wants to forgive/waive his right to be repaid the interest?
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The idea that it's a n'nw?7 a1'n and not a nTX7 a1'n opens up a third possibility for
explaining the nature of the n10'x.
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Perhaps there are multiple 011 in n*an 110'K:
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Why aren’t the inhereitors of the ni7n obligated to return the n'am m71? Especially if we

think that the obligation to return n'an mT is a monetary one?

N TINY 2'7 9T XNy X212 ND0N NISOIN



NIYID INT 17'OXT MT NI7 NIYIDT NI 2T D01 N"NRE- 1D N 7w DN YTl Y ' 7V O

['K 071 DXITA MINA XX D272'T2 DNINA 212X 1IN 17 [N hyTIT I [NIVDT WK MT N1

NIINA D'AA IN"IN'X 17 DINY DYTAT A"YUXRT 7" 'warn 0 Nl 'R N9 7 NInT TG arn
[1'"D ""2'Ya A'7'TA PTMI NN NN XX DINN 0YY7 [N X7T DyLa DI'N1 INT 27T

YA 'Y Il ' n.'n'7 NIYIDT IXT 'R 'TNAY 2N Il 'V niynavy

['Uyn NNOW 0"2n17 Nixnn 1907 |"anan niawn

71721 X7¥ 'N' NYIN QUKD D NRTN NIXAN Y1 .12'ARN 1IN77W 1A 'ThnY NM10XaY ' Dixn
272 AWK NN DX 2'WNIE (KDY 9"0) TNRY 1D N7TAN IR 2'WN7 NIX DX 11772 DRI [N 7]
QN N7 'wa? NNIX X INIX DNRY7 ORI 7Y N1 N K7W v D, [Typ] nwy Nixn X0l
NN 78 (N2 '9) 'N' INNX XINEAYY NIXN |2 DA XD INNRYTA X971 1w9) (112 n%? nnv 9 Yy

27 NN ATAL,NY 'NY7T DY ATAR 12 1IWAT N 'NR 'NEYTNZRA DR NNONT W INKN

.Inmd ndYal o["2"' T ARXI' AXIXP NN TN

Do you get ni7mn?

A N270 T 719 D17 i nidn o"ann

NI7NN DY 1awaY [naw non 1 e R IR 1R Y aay int nifmne o 7y g
NI7AN N DNIX 'RXINI 7T ARXE T 0 NN 2 NNIOK XYW NXIXPZ N2 AN DX 1'aNa

.DaN TN 'RYIN 'R D7D N oXIE,NI77 Tnni
N TINY 20 T KY'¥N X112 Ndon X010 'wITn

X7 720 "M2T7 72D 1naw 7D 1ami LN AR 220 ITYIR "D YUDT NIRRT M'wn waro Y

N'IXYT [PNN 'R N2AY DTIR 'A'79 D1 ,70XY dn X'p'y XN amdaw XX 99 aatna atixk jpnn

,NNQ "A'79 'X 79 NN Y7L, 2N M ATYYIR I prpnm XY T Xow 'winpa

X' RN [Nn'wT] TV 2T w91 D1 RII0RYT NITAY RN AT Y22 N7 TIYD Y0WT N20 KT



